






Calculate each server’s relative load
P

j and
total average load P

’
;

Put the servers under the condition Pj>P’into
Queue Q in descending order

Put the servers under the condition Pj<P
’
into

Queue S in ascending order

Select the first server fromQueue Q as k, and
all files in k form Queue H according to the

files, load in descending order

Select The first unmarked file from Queue
H as u and make a mark on u

u is in writing state Y

Select the first unmarked server fromQueue S
as x and make a mark on x

N

Add the load of u to x and recalculate the
load of x as Px

Px>=P
’Y

Remove u to x and delete u fromQueueH

Recalculate Pxand Pk

Px>=P
’

Delete x fromQueue S

Pk<=P’

delete k fromQueue Q

Q or S is null

End

N

Y
N

Y

N

Y

N

Clear all
marks of
files and
servers

Delete the load of
u from x and

regainthe initial
value of Px
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